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L2/L1(0.25)| L2(cm) |[L1(cm)|s(Q)(1)

0.33333 25 75 1
0.42857 30 70 2
0.5625 36 64 3
0.81818 45 55 4
1.04082 51 49 5
1.43902 59 41 6
1.63158 62 38 14
1.85714 65 35 8
2.1250 68 32 9
2.2250 69 31 10




slope = tan(0) = —

AX
X=CY+K ... (*)

l = tan(0) = ar
slope = tan(9) =
X=CY-K ... (*)

AY

slope = tan(0) = AX
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V(volt) I[(Amps)

0.2 0.2
0.45 0.4
0.65 0.6

0.9 0.8

1.1 1

1.4 1.3

1.6 1.5

1.8 1.6

2 1.75

2.1 1.9
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V(volts)
A V = RI
741
» [(amps
1 12 (amps)
AV (V2 — V1)
R(Q) = SLOPE =

AI(I2 — I1)
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V(volt) I[(Amps)
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log(I = KV")

log(I) = nlog(V) + log (k)

Gl
V(mV) I(MA) Log(V) Log(l)

2 3 0.30103 0.477121
4 4.5 0.60206 0.653213
6 6 0.778151 0.778151
9 8 0.954243 0.90309
13 10 1.113943 1

17 12 1.230449 1.079181
22 14 1.342423 1.146128
26 16 1.414973 1.20412
28 18 1.447158 1.255273
30 19.5 1.477121 1.290035
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log(I) (bs>y) = nlog(V)(ss2=x) + log (k)

Log(!)

'n=slope

[ 02
Log(K){| 0.1
o » Log(V)
Log(K)=0.2
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R(Q) I(Amps) 1/1
1 0.1 10
2 0.5 2
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RL(Q2)

O » 1/ I(amps)'l
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R=Ex——R,
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R(Q) I(amp) 1/1(amp)™
1 0.7 1.43
2 0.52 1.92
3 0.38 2.63
4 0.3 3.33
5 0.26 3.85
6 0.22 4.55
7 0.2 5
8 0.18 5.56
9 0.17 5.88
10 0.16 6.25
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R(Q) I(Amps) | P(W) = I?R
1 0.1
2
3
4
gl cidalada
P(watt)

»RL(Q)

A



R(Q) I(A) P(watt) | 1/I(A)
0.10 4.00 1.60 0.25
0.20 4.00 3.20 0.25
0.30 4.00 4.80 0.25
0.40 3.50 4.90 0.29
0.50 3.00 450 0.33
0.60 2.70 4.37 0.37
0.70 2.30 3.70 0.43
0.80 2.10 3.53 0.48
0.90 1.90 3.25 0.53
1.00 1.60 2.56 0.63
RL(QY)
A
» 1/ I(amps)
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